Review of “Spatial pattern of erosion in the Great Smoky Mountains, North Carolina and Tennessee:  Implications on steady state mountain belts” by Matmon et al.  A review by Nichols.

1. Try writing a stronger first paragraph…something about persistence of ancient mountain belts throughout the world.  This paragraph is only two sentences long.

2. Some people may read this as you are using cosmogenic isotopes over the 200 My time-scale.  Maybe you should put in that you are measuring over the 10,000 to 100,000 year scale.

3. Disconnect.  Need a better transition from the geology to the study of the geology.

4. Some readers may think that if there is ANY “significant alluvial storage” then at least some of your samples may be affected.  Reword this sentence because is seems like you are ignoring storage out of convenience not because storage is truly not a problem.

5. Why is this important?

6. Not necessarily.  You could be weathering limited and thus building a soil thickness and not have much transport.  This case would not be a balance of weathering and transport.

7. How consistent are the thicknesses?  You mentioned before that the thicknesses varied from 0 to over 10 meters.  That does not seem consistent to me.

8. How about raindrop off of the canopy cover?

9. Is there a ref for this?

10. Need a figure ref for this so the reader can see what you are talking about.

11. Just a thought.  If the sediment is transport quickly out of the system, why didn’t you see things moving during the high flows when you were there?  What does this suggest?  Ok answered during your talk.

12. What does in detail mean?  Does this just mean that you collected tributaries?

13. Should we do this?  And what is Paul’s take on using Lal 1991 in light of the other papers that have been published recently?

14. What do you mean by normalized?  Normalized to what? Elevation and latitude?  Tell the reader.

15. This goes back to my comment on number 4.  There is storage of sediment.  You have to convince the reader that it is localized and does not affect your big picture view.

16. You are getting into interpretation here.

17. Put in some more Granger refs.  He will probably be one to review this and he has played with ratios more than we have.  Don’t make this to “Bierman group” centric.

18. No further investigation is needed.  Actually the ratio is 6 or above.  There is no way there is burial in these samples.

19. Didn’t you separate out the 2-10 mm size from the >10 mm size?

20. Can you do this?  Shouldn’t you leave it in because it is real?

21. Do you mean something to the effect of stream piracy?

22. In light of Grangers comment maybe you should lighten  this statement.

23. I am not sure about the dosing on hillslopes because the calculated erosion rates are the same for the large local clasts and the traveled sand grains.  If the dosing was on the hillslopes with the sand grains they would have lower apparent erosion rates.

24. What is constant storage?  This makes me think that the sediment has had a lot of storage time which contradicts you no storage statement.  Granger would have a field day with this.

25. OK never mind

26. Can you say anything about past landslide activity which could affect your results if there were significant landsliding.  I don’t know if I believe this but the Grangers of the world might give you a hard time with this.

27. I disagree here.  It is not reasonable to assume that the clasts are locally derived if they are not so mobile.  It just means that they took longer to get where they are.  They easily could have traveled a long distance.  Because they have lower nuclide activities it is then reasonable to assume that they are local given lower mobility….which some people will still argue.

28. Try replacing with disagragates.

29. It doesn’t reduce it because it wasn’t higher to begin with.  Try something like Such local sources of larger clasts suggests shorter total exposure histories and …

30. A paul comment…get rid of the “This”.  What process?

31. Why do you have "of course"  This sentence is unclear anyway.  How about something like, "It is difficult if not impossible to determine the actual effective production rate for the "locally" derived clasts because we do not know the elevations of origination"

32. There is the "This" again.  Also, manipulation does not have a positive connotation.  How about starting the sentence with "Such correction of the grain size.."

33. Verifies?

34. This is your discussion.  This reads like results.  Why are the bedrock rates so different?  Why are the sediment generation rates important?  Do you use them to calculate sediment fluxes?  Tell me more of what I need to know.

35. So if you knew that one or two samples is not significant, why did you even bother to collect and analyze them?  Tell the reader.

36. Add Granger and Brown in here too.

37. Tell me the number of samples and is this statistically significant?

38. I saw the picture it looks like it does store alluvial material.  

39. Do these rivers flow over the siltstones?  The 16 number is low.  This is unclear how it relates to the first part of the paragraph.

40. Strong statement and is the crux of your Geology paper.  This is not the only interpretation of the data.  There are other possiblities to get the same results.  Maybe you should mention that this is the interpretation that you favor.

41. Why?

42. "We postulate"

43. I don't like this arm waving.  In a paper packed with data there is absolutely nothing to back this statement up.  I would cut the bulk and keep the last sentence which is important and strong.

44. What degree?  Try to reword.

45. You have not even mentioned any of the correlations yet.  This is not a good sentence to start with and also it is too long and complex to be a good lead sentence for a new section.

46. But there is a difference from north to south as you have shown one sentence above.  I would not even bother putting this last bit of information into the paper and I would pull the graph also.

47. Why exclude this sample?

48. Pick either slope or gradient.

49. But there are also similarities.

50. Can you use something other than "stand the test of time"?

51. You cannot observe this relationship elsewhere?

52. Add in the rebound factor to tell the reader the net denudation of range…1km!

53. Your estimates are only half of the Zimmermans.

54. Put in time scales that these techniques are effective over.

55. Relief is most definitely decreasing.  Rebound can only accout for 5/6 of the erosion.  You even mention that the relief in Davis' geographic cycle decreases  due to slope processes.  If you unroof 6 km of rock you will only get 5 back right?

56. This is the first time this is mentioned.  You shouldn't mention this for the first time in the conclusions.

57. Put in Kirchner ref and many more granger refs.

58. Shade the park here too.

59. Are they flat or are they concordant?

60. I would not include the rivers outside of the park.  It makes the figure too busy.

61. Shade the large grain size bars?

